## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Certifying Districts and Communities Commitment to Matching Funds)

1								
2			RESOLUTION NO. <u>96-296</u>					
3	WHEREAS,	the following communities a	nd districts have requested funding of the					
4		specified Projects:						
5		specifica 110Jecus.						
6		Charco 27/Hickiwan	Home Renovation/Wastewater Facilities					
7 8		San Luis, Palo Verde	Home Renovation/Wastewater Facilities					
9		Stand/Gu Achi						
10		South Komelic, Little Tucso	7					
		Artesia/Baboquivari	Home Renovation/Water and Wastewater					
l1 l2		Tiresta Basoquivari	Facilities					
13		C 111 /0:C 0:11	II D · · /W/ · · · IW/					
14		Cockleburr/Sif Oidak	Home Renovation/Water and Wastewater Facilities					
15		:						
16	WHEREAS,	the above listed communit	ies/districts have appropriated matching					
۱7		funds toward the constructi	on of their specified projects; and					
18	WITTEDEAC							
19	WHEREAS,	the above listed communit	ies/districts have the funds available to					
20		appropriate.						
21	NOW/ THE	DEEQDE DE LE DECQUAED	d.d. T. O. H. T. 1.					
22	NOW, THE	REFURE, BE II RESULVED	that the Tohono O'odham Legislative					
23		Council does certify and ve	rify that the following communities and					
24								
25	districts do have the funds available to commit towards the project							
26		if it is funded by the	Department of Housing and Urban					
27								
28		Development:						

	<b>RESOLUTION NO. 96-296</b>							
	(Certifying Districts and Communities Commitment to Matching Funds)							
1	Page 2 of 3							
2	Charco 27/Hickiwan \$5,000							
3								
4 5	San Luis, Palo Verde Stand/ \$2,000 Gu Achi							
6	Sand Van I' I'm P P 000							
7	South Komelic, Little Tucson \$5,000 Artesia/Baboquivari							
8	Cockleburr/Sif Oidak \$5,000							
9								
	The foregoing Resolution was passed by the Tohono O'Odham Council on the 12TH. day of JULY, 1996 at a meeting at which a quorum was present with a							
11	vote 1,206.0 FOR; 134.0 AGAINST; -0- NOT VOTING; and 536.0 [10] ABSENT,							
12	pursuant to the powers vested in the Council by Article VI, Section 1 (c)(2).(d) of							
- 1	the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham							
14	Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16							
15	of the Act of June 18, 1934 (48 Stat. 984).							
16								
17	TOHONO O'ODHAM LEGISLATIVE COUNCIL							
18								
19								
20	Dennis Ramon, Legislative Chairman							
21								
22 23	18 th day of July , 1996							
24								
25	ATTEST:							
26								
27	Francis Antone							
28	Frances Antone, Legislative Secretary							
	19th day of July , 19 96							

	RESULUTION NO. <u>96-296</u>
	(Certifying Districts and Communities Commitment to Matching Funds)
1	Page 3 of 3
1	
2	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'Odham Nation on the/8 th day of, 19 96 at
3	//////////////////////////////////////
4	the Constitution and will become effective upon his approval or upon his failure
5	to either approve or disapprove it within 48 hours of submittal.
6	
7	TOHONO O'ODHAM LEGISLATIVE COUNCIL
8	
9	$\Lambda$
10	De Kun
11	Dennis Ramon, Legislative Chairman
12	
13	APPROVED on the 22 day of July, 1986
14	
15	[ ] DISAPPROVED at <u>9:27</u> o'clock, <u>#</u> .M.
16	$Q_{1}$
17	Mounte
18	EDWARD D. MANUEL, Chairman
	TOHONO O'ODHAM NATION
19	
20	Returned to the Legislative Secretary on the Daviday of
21	deturned to the negislative secretary on the day or
22	July, 19 <u>96</u> , at //:06 o'clock, A.M.
23	2 01 - 2
24	Francis Antone  Francis Antone  Francis Antone
25	Frances Antone, Legislative Secretary
26	
27	
28	

## RESOLUTION NO. <u>96-296</u>

ACTION: CERTIFYING DISTRICTS AND COMMUNITIES COMMITMENT TO MATCHING FUNDS

MOVED: VICE CHAIRMAN ALEX J. RAMON

SECOND: COUNCILMAN TONY BURRELL

**DATE:** JULY 12, 1996

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 160.0	MARY ANN ANTONE     (Nellie Miguel)	80.0	Х			
	2. RITA MARTINEZ (Maxine Norris)	80.0	X			х
SELLS 314.0	JOSEPH T. JOAQUIN     (Allen W. Garcia, Jr.)     LUCILLE ENCINAS	157.0				Х
	(Cynthia Chico)	157.0				x
SCHUK TOAK	1. KENNETH J. ANTONE	58.5				х
117.0	2. JOSEPH JUAN ( )	58.5				х
SAN XAVIER	1. DENNIS RAMON	71.0	X			
142.0	2. TONY BURRELL ( )	71.0	x			
BABOQUIVARI	EDWARD KISTO     ( Idella Stanley)	128.5	Х			
257.0	2. FRANCES MIGUEL (Kenneth Chico, Sr.)	128.5	X			х
GU ACHI	WILLARD ANITA     (Louis Johnson)	93.5	X			х
187.0	2. ALEX J. RAMON (Marian Johnson)	93.5	x			
PISINEMO	JOHNSON JOSE     (Roseleen Antone)	67.5	Х			
135.0	2. BARBARA SALVICIO	67.5	x			
SAN LUCY	ALBERT MANUEL, JR.	52.5				х
105.0	2. JOHN RENO (Mary Hoffman)	52.5				х
GU VO	1.	67.0		X		
134.0	2. FERN SALCIDO (Larry Montana)	67.0		х		
HICKIWAN	LLOYD FRANCISCO     ( )	71.0	х			
142.0	2. ALEX JOSE (	71.0	x			
CHUKUT KUK	KENNETH WILLIAMS	91.5	Х			х
183.0	2. DAVID GARCIA (Marvin Thomas )	91.5	х			
	TOTAL	1,876.0	1,206.0	134.0	-0-	536.0 [10]